#### BOARD OF COUNTY COMMISSIONERS **COUNTY OF KITTITAS** STATE OF WASHINGTON

### RESOLUTION NO. 2011-132

#### TO AWARD THE BID TO FURNISH WEED SPRAY MATERIALS FOR 2012.

WHEREAS: A Notice of Call for Bids was approved and signed on November 15, 2011, for

Weed Spray Materials for 2012; and

Sealed bids were opened on November 30, 2011, at 2:00 p.m. in the Kittitas WHEREAS:

County Public Works and three (3) bids were received; and

The Public Works Department recommends that the responsible bid of Helena WHEREAS:

Chemical Company be accepted; and

NOW, THEREFORE BE IT RESOLVED that the Board of County Commissioners, in the best interest of the public, does hereby award the bid for 2012 Weed Spray Materials to Helena Chemical Company, upon such terms and conditions as specified in the Proposal submitted by said bidder(s).

BE IT FURTHER RESOLVED that the Director of Public Works is authorized to sign the contract documents upon such terms and conditions specified in the Proposal submitted by said bidder(s).

DATED this 6<sup>th</sup> day of December, 2011, at Ellensburg, Washington. MMISSIONE MMISSIONE

SEAL Attest

**BOARD OF COUNTY COMMISSIONERS** KITTITAS COUNTY, WASHINGTON

Paul Jewell, Chair

Alan Crankovich, Vice-Chair

Obie O'Brien, Commissioner

## BID PROPOSAL CHEMICAL/WEED SPRAY - BID OPENING NOVEMBER 30, 2011, AT 2:00 P.M.

CHEMICAL	INGREDIENTS	Active Ingredients %	ESTIMATED QTY. CONTAINER SIZE				COST	TOTAL UNIT
	RES	SIDUALS						
Velossa	Hexazinone	25.00%	375	Gal.		Gal.	\$80.00	\$30,000.00
(No Substitutions)	Inert Ingrediants	75.00%					<b>V</b> 00.00	400,000.00
Landmark XP	Sulfometuron	50.00%	2250	Oz.	bulk	Oz.	\$6.62	\$14,895.00
(No Substitutions)	Chlorsulfuron	25.00%		JE.	Duik	UZ.	Ψ0.02	\$14,000.00
(140 Gubaniunolla)	Inert Ingrediants	25.00%						
	CONTACT & CEI	FOTIVE U	PRICIPE					
	CONTACT & SEL	ECTIVE HE	RBICIDE	<u> </u>		1		
Brush Rhap	Acid	18.28%	750	Gal.	275	Gal.	\$46.60	\$34,950.00
(No Substitutions)	2,4-dichloro-phenoxyacetic Acid	24.62%						
Glyphosate	Glyphosate, N-(phosphonomethyl) glycine, in the form of its isopropylamine salt	41%	30	Gal.		Gal.	\$11.00	\$330.00
(No Substitutions)	Other Ingredients	59%						
Milestone	Triisoprapanolammonium salt of 2- pyridine carboxylic acid, 4-amino 3, 6-dichloro	40.60%	20	Gal.	2.5	Gal.	\$299.73	\$5,994.60
(No Substitutions)	Other Ingredients	59.40%						
	SID	ACTANTS						
Grounded	Propietary blend of Aliphatic Hydrocarbons & hexahydric Alcohol, ethoylate and fatty acids	99.00%	150	Gal.	2.5	Gal.	\$15.95	\$2,392.50
(No Substitutions)	Components ineffective as adjuvant	1.00%						
	Patent No. 5,906,961							
							TOTAL -	\$88,562.10
**NOTE: A CURRE	NT LABEL AND MSDS SHEET FO	R EACH CHE	EMICAL SH	IALL BE	SUPPLI	ED WHI	EN SUBMITT	ING A BID.
Helena Chemical Co.				_				
Company Name				_				
1010 E. Kartchner St. 509-962-2621								
Company Address					т	elephon	e No.	
Pasco, WA 99301	•			_ 5	09-972-45			
City State 2	Zip					Fax N	0.	

# BID PROPOSAL CHEMICAL/WEED SPRAY - BID OPENING NOVEMBER 30, 2011, AT 2:00 P.M.

CHEMICAL	INGREDIENTS	Active Ingredients %	ESTIMATE TO T			INER E	COST	TOTAL UNIT COST
	RE	SIDUALS				, ,		
Velossa	Hexazinone	25.00%	375	Gal.		Gal.		No Bid
(No Substitutions)	Inert Ingrediants	75.00%						
Landmark XP	Sulfometuron	50.00%	2250	Oz.		Oz.	\$6.99	\$15,727.50
(No Substitutions)	Chlorsulfuron	25.00%						
	Inert Ingrediants	25.00%				4		
	CONTACT & SEL	ECTIVE HE	RBICIDES	 S				
Brush Rhap	3, 6-dichloro-methyoxybenzoic		750	Gal.		0-1		N. Did
(No Substitutions)	Acid 2,4-dichloro-phenoxyacetic Acid	18.28% 24.62%	/50	Gai.		Gal.		No Bid
Glyphosate	Glyphosate, N-(phosphonomethyl) glycine, in the form of its isopropylamine salt	41%	30	Gal.	30	Gal.	\$13.50	\$405.00
(No Substitutions)	Other Ingredients	59%						
Milestone	Triisoprapanolammonium salt of 2- pyridine carboxylic acid, 4-amino 3, 6-dichloro	40.60%	20	Gal.	2.5	Gal.	\$299.73	\$5,994.60
(No Substitutions)	Other Ingredients	59.40%						
	SURF	ACTANTS				ليط		
Grounded	Propietary blend of Aliphatic Hydrocarbons & hexahydric Alcohol, ethoylate and fatty acids	99.00%	150	Gal.		Gal.		No Bid
(No Substitutions)	Components ineffective as adjuvant	1.00%						
	Patent No. 5,906,961							
							TOTAL -	\$22,127.10
*NOTE: A CURRE	NT LABEL AND MSDS SHEET FO	R EACH CHE	MICAL SH	ALL BE	SUPPLI	ED WHE	N SUBMITT	ING A BID.
Crop Production Servi	ices Inc							
Company Name	oca, mo.							
18319 E. 11th Avenue					5	09-922-5	773	
Company Address				-)		elephon		
					_	00.000		
Greenacres, WA 9901 City State Z	lip				5	09-922-3: Fax No		
,							-	

## BID PROPOSAL CHEMICAL/WEED SPRAY - BID OPENING NOVEMBER 30, 2011, AT 2:00 P.M.

CHEMICAL	INGREDIENTS	Active Ingredients %	ESTIMATE	CONTAINER SIZE		COST	TOTAL UNIT	
	RES	SIDUALS						
Velossa	Hexazinone	25.00%	375	Gal.		Gal.		No Bid
(No Substitutions)	Inert Ingrediants	75.00%						
Landmark XP	Sulfometuron	50.00%	2250	Oz.	bulk	Oz.	\$6.57	\$14,782.50
(No Substitutions)	Chlorsulfuron	25.00%		-	20111	1	70.0.	<b>*</b> * * * * * * * * * * * * * * * * * *
(110 Oubstitutions)	Inert Ingrediants	25.00%						
	CONTACT & SEL	ECTIVE HE	PRICINE					
Brush Rhap	3, 6-dichloro-methyoxybenzoic					П		
	Acid	18.28%	750	Gal.		Gal		No Bid
(No Substitutions)	2,4-dichloro-phenoxyacetic Acid	24.62%						
Glyphosate	Glyphosate, N-(phosphonomethyl) glycine, in the form of its isopropylamine salt	41%	30	Gal.		Gal.	\$6.95	\$208.50
(No Substitutions)	Other Ingredients	59%						
Milestone	Triisoprapanolammonium salt of 2- pyridine carboxylic acid, 4-amino 3, 6-dichloro	40.60%	20	Gal.	2.5	Gal.	\$299.73	\$5,994.60
(No Substitutions)	Other Ingredients	59.40%						
	SURF	FACTANTS						
Grounded	Propietary blend of Aliphatic Hydrocarbons & hexahydric Alcohol, ethoylate and fatty acids	99.00%	150	Gal.		Gal.		No Bid
(No Substitutions)	Components ineffective as adjuvant	1.00%						
	Patent No. 5,906,961							
							TOTAL -	\$20,985.60
**NOTE: A CURRE	NT LABEL AND MSDS SHEET FO	R EACH CHE	EMICAL SH	ALL BE	SUPPLIE	D WHI	EN SUBMIT	TING A BID.
Wilbur-Ellis Co.								
Company Name				_				
Julie Sauve / P O Box	710				509-669-263	36		
oune outro / F O Dox	1.0			- '	the state of the s	elephon	e No.	
Wenatchee, WA 988	07				509-663-519	92		
	Zip			_ **		Fax N	0.	